iR Rt )

20254 88 11H(H %)

BAE = [{FET
| B 221 A HI 221 223
11 7:00 | MAEX KT A 37 HE FX AT &
2 | 707 | &% EBL H &R SFH #HE =HER
3 | 1:14
4| 7:21 IS 52 i% yii =
5 | 7:28 | L= #HA M BEE RE 5 0O 55—
6 | 7:35
7| 742 | mR = NZ {REA X E EH Xk
8 | 7:49
9 | 7:56 hE A Al T INI| R A8 58
0] 803 | =F &k S H E— Y] mWE BE 5T
11 8:10 | PHEF FHAKED g [5F EE sh— )l iE1E
12| 8:17
13| 8:24 HO B TA & T H 50
14| 8:31 JNA Fi k& T FEF R EF
15| 8:38 e 2z \LIE =1E
6 8:45 | ZEKE=E 0 X M EA AT &

x BiEg~—o, ZEFx<—7,
* RA—RI0DRIDEES . SDRITA—I T RIZFHEESBLLET,
* 0% 11004




